
#58176 REPSOL FORD ESCORT RS COSWORTH
Scale: 1:10

Category: Electric
Chassis Type: TA02

PART# DESCRIPTION
1825098 Body
50637 TA02 & FWD Touring Car Chassis/Frame
50541 4WD Touring & Rally Car Front Gear Case (TA01 & 02 Chassis) (A1-A5)
50478 Skyline Spare Rear Gear Case (B1-B7)
50554 4WD & FWD Touring & Rally Car Rear Uprights (C Sprue) (C1-C13)
50644 Touring Car D Parts (Body Mount) (D1-D7)
50647-D 4WD Touring Car E Parts (Bumper) (E1-E8)
50649 TA02/TA02W Touring Car F Parts

(Front Suspension Arm) (F1 & F2)
50529 4WD Touring & Rally Car Plastic Gear Set

G Parts (G1-G4) x1 Idler Gear x1
Front Diff Spur Gear x1 Differential Cover x1
Rear Diff Spur Gear x1 Spur Gear x1

9005496 H Parts (H1-H6)
50556 4WD-TA02 Touring & Rally Car Rear

Suspension Arm (K Sprue) (K1-K5)
9115044 N Parts (N1-N3)
50598 *1 CVA Mini Shock Unit 2 V Parts (V1-V11, 2 pcs.)
50599 *1 CVA Mini Shock Unit 2 W Parts (W1-W3, 2 pcs.)
50555-D 4WD-TA02 & FWD Touring & Rally Car Front Uprights (2 pcs.)

(50705 Replaces 50555)
50711-D *1 Repsol Ford Escort RS Cosworth Wheels (2 pcs.)
50476 *1 Rally Block Tires (2 pcs.)
9415158 Metal Parts Bag A  
9415159 Metal Parts Bag B  
9415264 Metal Parts Bag C 
9415161 Metal Parts Bag D
9415265 Metal Parts Bag E 
53072 Differential Ball & Plate Set (MA1-MA3, MA5-MA8)
50645 Touring Car 17mm Thrust Washer (MA6 x4)
50650-D Rear Drive Shaft (MA9 x2) (50643 Replaces 50650)
9405668 Pressure Plate Bag (MA10-MA12)
53217 Touring Car Hard Joint Cup Set

(for Ball Diff) (MA13 & MA14)
9805369-D Rear Wheel Axle (MA15 x2)

(50823 TG10 Front Wheel Axle Replaces 9805369)
3515017 21T Pinion Gear (MA16)
9805469 5x19mm, 5x30mm Shaft (MA17 & MA18)
4305125 Motor Plate (MA20)
9405830 Screw Pin Bag (MA21, MA22, MB13 2 pcs. each)
50582 3x14mm Step Tapping Screw (MA24 x5)
50577 3x10mm Tapping Screw (MA25 x10)
50576 3mm Grub Screw (MA26 x10)
50038 Tool Set (Box wrench, Hex wrench, MA26 x4)
50586 3mm Washer (MA27 x15)
0555015 1150 Plastic Bearing (MA29 x10)
50642-D Touring Car U-Shaped Shaft (MB1)
50602 Differential Bevel Gear Set (MB3-MB5, MB8)
50643 TA02 & FWD Touring Car Drive Shaft Set (MB6 x2)
50604 Front Wheel Axle (MB7 x2)
9805368 Front Gear Box Joint (MB11 & MB12)
50585 4x10mm Step Screw (MB14 x5)
50573 2x8mm Tapping Screw (MB15 x10)
50592 5mm Ball Connector (MB16 x10)
50601 *1 CVA Mini Shock Unit 2 Piston Rod (MC2 x2)
50593 4x6mm Flanged Tube (MC4 x5)
50597 Damper O-Ring (MC6 x10, Red)
50600 CVA Mini Shock Unit 2 Oil Seal (MC7 x6)
50583 3x15mm Tapping Screw (MC9 x10)
50588 2mm E-Ring (MC11 x15)
50170 Nylon Band Set (Large x2, MD2 x6)
3485051 Propeller Shaft (MD5)
50575 2.6x10mm Tapping Screw (MD7 x5)
50594 2x10mm Shaft (MD10 x10)
50197 Snap Pin Set (MD11 x10, MD12 x5)
9805385 Rubber Bushing (ME1 x2)
50171 Heat Resistant Double Sided Tape

7435044 Motor
6095003 Antenna Pipe
9495243 Sticker (a, b) & Masking Seal  
9415001 Speed Controller Bag

Resistor x1 Speed Controller x1
Speed Control Rod x1 Switch Iubricant x1
3mm Washer x4 3x10mm Tapping Screw x11
Speed Control Cover x1

1805172 Speed Control Cover
1055692 Instructions

R/C SPARE PARTS & HOP-UP OPTIONS
50419 Racing Radial Tire Set (2 pcs.)
50454 Racing Slick Tire Set (2 pcs.)
50473 Hi-Torque Servo Saver
50477 24T, 25T AV Pinion Gear Set
53025 Silicone Damper Oil Soft Set (#200,#300)
53026 Silicone Damper Oil Medium Set (#400,#500) 
53027 Silicone Damper Oil Hard Set (#600,#700) 
53042 Ball Diff Grease
53044-D Dynatech 02H Motor
53068 RS-540 Sport-Tuned Motor
53098 4WD Stainless Steel Suspension Shaft Set
53124 3mm Tungsten-Carbide Diff Ball Set
53127 Skyline Speed-Tuned Gear Set
53142 Touring & Rally Car Aluminum Motor Mount
53145 Touring & Rally Car Urethane Bumper Set
53152 Short Type Hard Propeller Shaft (TA02 Chassis)
53153-D Acto-Power Touring Special Motor
53155 Low Friction Aluminum Damper Set
53156 Hard Inner Sponge Set
53157 Aluminum King Pins 
53163 On-Road Tuned Spring Set
53164 4WD Touring & Rally Car Hollow Carbon Gear Shaft Set
53166 4WD-TA02 & FWD Car FRP Chassis Set
53167 4WD Touring & Rally Car Ball Bearing Set 
53172 4WD-TA02 & FWD Car Universal Shaft Set (2 pcs.)
53189 4WD Touring & Rally Car Rear Stabilizer Set
53191 Touring & Rally Car Turnbuckle Tie-Rod Set
53192 Touring & Rally Car Turnbuckle Upper Arm Set
53193 4WD Touring & Rally Car FRP Front Damper Stay
53194 4WD Touring & Rally Car FRP Rear Damper Stay
53200 4WD Front One-Way Diff. Unit
53209 Touring & Rally Car Shaped Tire Insert (2 pcs.)
53214 Super Grip Radial Tires (2 pcs.)
53219 4WD/FWD Touring Car Aluminum Pressure Plate Set
53220 4WD/FWD Touring Car Super Slicks (2 pcs.)
53224 Touring Car M2 Slicks (2 pcs.)
53226 Touring Car Aluminum Front Hub Carrier (2 pcs.)
53227 Touring Car M2 Radial Tires (2 pcs.)
53250 Touring Car Shaped Tire Insert, Soft (2 pcs.)

*1 Requires 2 sets for one car.

D=discontinued

Tamiya America, Inc.
2 Orion, Aliso Viejo, CA  92656  
(949) 362-2240   Fax: (949) 362-2250
Consumers: (800) TAMIYA-A    
Dealers: (800) 5-TAMIYA




